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Let S below be +the set OS: solutions Op

the ezuo:ﬁon xz_‘_%z___l. S is a circle.
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A(“) is the addition function +hat adds 2 +o
the x-coaedinate and 1 to the }—coord‘ma‘te. Thus,
A(2,|)(5> is the circdle S moved r‘ij\ﬂ 2 and up 1.
Write an ezuo«-ﬁon For A(Z,.)<5).
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2 0
(O 3) IS ’l‘»\e dlajona\ matvrix -H\a-f sc_aleg 'H\Q X-axis

by 2 and the y,-axis by 3. quusl <§g)(5) is the

c\rc\e S s—rre,Tche,cl +twice as wide o.v\& +hrice as
+oll. Wirite an eiua‘tion Sor (23)(3)
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<,+ 5> IS a wmatriX. Write an ezuo:h'on ‘yor (Q 5)(5)
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